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QUESTION 1

Which two tasks does the Pluggable Storage Architecture (PSA) perform? (Choose two.) 

A. Handles I/O queueing to the logical devices. 

B. Handles physical path discovery, but is not involved in the removal. 

C. Handles physical path discovery and removal. 

D. Handles I/O queueing to FC storage HBAs. 

Correct Answer: AC 

When coordinating the VMware NMP and any installed third-party MPPs, the PSA performs the following tasks: 

Loads and unloads multipathing plug-ins. 

Hides virtual machine specifics from a particular plug-in. Routes I/O requests for a specific logical device to the MPP
managing that device. 

Handles I/O queueing to the logical devices. 

Implements logical device bandwidth sharing between virtual machines. Handles I/O queueing to the physical storage
HBAs. 

Handles physical path discovery and removal. 

Provides logical device and physical path I/O statistics. 

Reference: http://pubs.vmware.com/vsphere51/index.jsp?topic=%2Fcom.vmware.vsphere.storage.doc%2FGUID-
C1C4A725-8BE4- 4875-919E-693812961366.html 

 

QUESTION 2

An administrator plans to use VMware Converter Standalone to convert a virtual machine to a vSphere environment.
The source virtual machine has these properties: 

Running Windows 2008 R2 Contains one NTFS formatted volume During conversion, how many virtual disks can the
administrator add to the destination virtual machine? 

A. 0 

B. 1 

C. 2 

D. 3 

Correct Answer: A 

You cannot create any virtual disks during conversion using VMware converter standalone to convert a virtual machine
to a vSphere environment. 

2V0-621D VCE Dumps | 2V0-621D Practice Test | 2V0-621D Braindumps                                2 / 4

https://www.passapply.com/2v0-621d.html
https://www.passapply.com/2v0-621d.html
https://www.passapply.com/2v0-621d.html


https://www.passapply.com/2v0-621d.html
2024 Latest passapply 2V0-621D PDF and VCE dumps Download

 

QUESTION 3

An administrator wants to power on a virtual machine (VM) while connected to an ESXi host using SSH. The VM has
the following Name and ID: 

VM Name = SQL001 VMID = 12345 Which command would successfully power on the virtual machine? 

A. vim-cmd vmsvc/power.on 12345 

B. vim-cmd vmsvc/power.on SQL001 

C. vmware-vim-cmd vmsvc/power.on 12345 

D. vmware-vim-cmd vmsvc/power.on SQL001 

Correct Answer: A 

Reference: http://pingforinfo.com/cronjob-poweron-vm/ 

 

QUESTION 4

A virtual machine is exhibiting these symptoms: 

Memory usage is constantly high (94% or greater) or constantly low (24% or less). Free memory is consistently 6% or
less and swapping frequently occurs 

Which three solutions could correct this problem? (Choose three.) 

A. Verify that Vmware Tools is installed on each virtual machine. 

B. Decrease the memory reservation setting, if higher than active memory. 

C. Add physical memory to the host. 

D. Disable the balloon driver in each virtual machine. 

E. Create a memory limit for each virtual machine. 

Correct Answer: ABC 

Make sure Vmware tools are installed on each VM. To weed out the problem, decrease the memory reservation setting
if it is higher than active memory or add physical memory to the host to increase its capacity. 

 

QUESTION 5

An administrator is configuring virtual machines to use Worldwide Port Names (WWPNs) to access the storage. Which
two conditions are required? (Choose two.) 

A. The switches in the fabric must be N-Port ID Virtualization aware. 

B. The virtual machines must be using passthrough Raw Disk Mapping (RDMp). 
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C. The virtual machines must be using Virtual Machine Disk (VMDK). 

D. The switches in the fabric must be Storage I/O Control aware. 

Correct Answer: AB 

To configure virtual machines to use WWPNs, you have to set N-Port ID virtualization aware setting on the switches in
the fabric and you should also make sure that the virtual machines must be using passthrough raw disk mapping. 
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